ASSEMBLY INSTRUCTION




HARDWARE LIST
REF HARDWARE NAME QTY
A S M8 X 55 BOLT 16PCS
B om M6 X13 BOLT 8PCS
C i M6 X 35 BOLT 2PCS
D <) M8 NUT 8PCS
E y, M8 8PCS
F = M6 2PCS
G ~J 5# ALLEN KEY 1PC
H — 8# ALLEN KEY 1PC
J a 038 4PCS
K “ 20X20 10PCS
L = M8 4PCS
PART LIST
(1) xIPC 2) x1PC 3)x2PCS (4 x2PCS  (5) x2PCS
6) x4PCS 7) x8PCS 8) x1IPC (9) x2PCS  (10)x4PCS

PAGE 2 OF 3




STEP 1

)
(3)

(4)

c]

(%)
(4)

STEP 2

STEP 3

PAGE 3 OF 3




	1
	2
	3

